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1. Opening trade between two nations would:
shift their production possibilities curves outward.
b. shift their production possibilities curves inward.
c. leave the production possibilities unchanged and increase their consumption
possibilities.
d. leave the production possibilities unchanged and decreased their consumption
possibilities.

2. Suppose the economy is on the classical range of the aggregate supply curve and has a problem
with inflation. According to Keynesian theory, which of the following is an appropriate
discretionary fiscal policy to use in this situation?

a. A reduction in the money supply. c. Increase federal spending.
b. Less government regulation. d. Higher taxes.

3. Assume the economy is in recession and real GDP is below full employment. The marginal
propensity to consume (MPC) is 0.75, and the government follows Keynesian economics by
using expansionary fiscal policy to increase aggregate demand (total spending). If an increase
of $1,000 billion aggregate demand can restore full employment, the government should:

a. increase spending by $250 billion. c. increase spending by $1,000 billion.
b. decrease spending by $750 billion. d. increase spending by $750 billion.

4. One way the consumer price index (CPI) differs from the GDP chain price index is that the

CPI:
a. uses current year quantities of goods and services.
b. includes separate market baskets of goods and services for both base and current

years.
c. includes only goods and services bought by typical urban consumers.
d. is bias free.

5. Which one of the following persons would be considered unemployed?
A person not working who has given up searching for a job.

A part-time worker looking for a full-time job.

A construction worker who was laid off due to cold weather.

A full-time college student who is not a member of the labor force.
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6. A perfectly competitive firm in the short-run maximizes its profit by producing the output
where:

marginal cost equals price.

marginal cost equals marginal revenue.

total revenue minus total cost is at a maximum.

all of these.
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7. The expenditure approach to GDP accounting includes:
wages and salaries.
net exports.
net interest.
. corporate profit.
proprietors' income.
8. The unemployment rate equals the number of persons:

® o0 o

a. unemployed divided by the number employed.
b. unemployed divided by the number in the labor force.
c. unemployed divided by the population age 16 and over.
d. not working divided by the population age 16 and over.
9. Anindividual who is employed part time, but is looking for a full-time job, is classified as:
a. frictionally unemployed. c. structurally unemployed.
b. cyclically unemployed. d. employed.

10. A rational consumer should not consume more of a good when:

total utility is decreasing.

marginal utility is diminishing.

both a and b.

income is decreasing.

the price is high.

11. The fact that a gallon of gasoline commands a higher market price than a gallon of water
indicates that:

® oo T

gasoline is an economic good but water is not.

b. the marginal utility of gasoline is greater than the marginal utility of a gallon of
water.

c. the average utility of a gallon of gasoline is greater than the average utility of a
gallon of water.

d. the total utility of gasoline exceeds the total utility of water.
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12. Which of the following statements best describes firms under monopolistic competition?
a. Profits will be positive in the long run.
b. Price always equals average variable cost.
c. Inthe long run, positive economic profit will be eliminated.
d. Marginal revenue equals minimum average total cost in the short run.
13. Comparative advantage indicates that:
specialization and exchange will cause trading partners to reduce their joint output.
b. anation can gain from trade even when it is at an absolute disadvantage in
producing all goods.
c. trade with low-wage countries will pull down the wages of workers in high-wage
countries.
d. all of these.
14. If nation A has a comparative advantage over nation B in the production of a product, this
implies:
it requires fewer resources in A to produce the good than in B.
b. the cost of producing the good in terms of some other good's production that must
be sacrificed is lower in A than in B.
that nation B could not benefit by engaging in trade with A.
that nation A should acquire this product by trading with B.
e. that nation A could not benefit by engaging in trade with B.

o

15. Assume the economy is in short-run equilibrium at a real GDP above its potential real GDP.

According to classical theory, which of the following policies should be followed?
a. The Federal Reserve should use open market operations and buy U.S. government
securities.
b. The Federal Reserve should not follow a fixed rule.
The federal government should cut taxes.
Fiscal policy and monetary policy should not be activist.
16. The modern view of the Phillips curve suggests that:
when inflation is reduced, unemployment will fall below the natural rate.
the Phillips curve is an unstable relationship.
systematic demand stimulus policies will be unable to affect prices in the long run.
there will be a trade-off between inflation and unemployment in the long run.
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17. If nation A has an absolute advantage over nation B in the production of a product, this implies

18.

19.
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20.
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that:
it requires fewer resources in A to produce the good than in B.
the cost of producing the good in terms of some other good's production that must
be sacrificed is lower in A than in B.
nation B could not benefit by engaging in trade with A.
nation A should acquire this product by trading with B.
nation A could not benefit by engaging in trade with B.
A major difference between a tariff and a quota is that a tariff:
will reduce imports, but a quota generally will not.
can easily be rescinded, but a quota cannot.
will reduce the ability of foreigners to obtain the purchasing power to buy a
nation's export goods, but a quota will not affect the foreign demand for the
nation's exports.
typically generates tax revenue, while a quota does not.
A nation's trade deficit will expand when its:
currency appreciates.
economy is shrinking.
investment environment is less attractive to foreigners.
all of these are true.
Economists look at which of the following to get a quick visual expression of income distribution?
Gini coefficient.
IRS records of how much income each household earned.
supply and demand curves for resources.
Lorenz curve.
surveys of business estimates for MRPs.
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1. The DRAM chips industry is a duopoly. The two firms, Hynix (firm 1) and Micron (firm 2),
compete through Cournot quantity-setting competition. The demand curve for the industry is
P=100-Q, where P is price and Q is the total quantity produced by Hynix and Micron.
Currently, each firm has marginal cost of $40 and no fixed costs.

(1) (4 #) Please write down the Cournot reaction functions.

(2) (6 4#) Please calculate the Cournot equilibrium.

2. Consider a Solow growth model economy. Suppose the production function is given by
Y, =8-K¥. LY,

where Kt is the capital stock in time t, and Lt is labor quantity in time t. Suppose the product market
and factor markets are all complete competitive markets. For simplicity, we assume capital

depreciation rate is zero, labor growth rate is 3%, and saving rate (s) is 60%. The investment
function is

I, =AK

t t

(3 #) What is the maximum profit for the representative producer?

(6 #) In the steady state, what are the capital per person and GDP per person?
(6 #) In the steady state, what is the growth rate of GDP per person (AY /Y )?
(3 #) Can we use saving rate as a policy tool to raise long run GDP growth rate?
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